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Guess Paper – 2010
Class – XII
Subject – Physic 
GRAVITY ACADEMY

DUAL NATURE AND ATOM NUCLEI
Q1. A source of light is kept at 50 cm form photocell and cut off potential is found 

       to be V volts . If distance is reduced to 25 cm what will be new cut of potential 

       justify your answer.

Q2. Light of 5000 A fall on metal of work function 2.01 ev . Find the kinetic energy

       Of photoelectron

Q3. Find the expression for the wave length of electron.

Q4 Explain german and davisson experiment in detail with diagram.

Q5. Name the series of hydrogen spectrum which have least wave length.
Q6. Explain the binding energy per nucleon  graph in detail and its inferences.

Q7. A  radioactive material reduce to 1/ 16 of its original amount in 4 days . How         

       much material should one begin with  so that 4 x 10 -3 Kg is left in 6 days

Q8. Explain bohr postulates of atomic model and how he removed the defects 

        of Rutherford model

Q9.Compare the radii of two nuclei with mass number 1 and 27 respectively.

Q10.Obtain the binding energy and packing fraction of nitrogen given
               Mh = 1.00783 u

               Mn = 1.00867 u

               MN =14.00307 u
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